Subject: A COMPLETELY Non-Pi question...
Posted by wunhuanglo on Sat, 26 Jul 2003 12:02:51 GMT
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The link below is to a "typical" 1/4 wave transmission line. The design guidlines I've seen always
say that the tube cross sectional area ought to be the same as the cone area. (Doesn't seem to be
followed too well - many put 2 drivers into a single tube the cross section of a single driver).My
question is - would multiple tubes with a total cross section equivalent to the driver area work as
well? I'm thinking that settling of the stuffing would be less problematic with a reduced cross
section (higher surface-area-to-volume ratio).Any opinions appreciated.
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